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Choose the correctly spelt word.
(1) Defalcation

(2) Difaleation

(3) Defalcasion

(4) Defalcatation
e & qewn ms &
(1) &9

(2)

3) =@

(4) 99

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]
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QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.
A. Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :
1) C.A.D.B
2) B.A.D.C
3) B.C.A.D
(a) C.D.B.A

4 & FY AU 71U §: US SHTUHYUT (Assertion A) & &0 1 [AREd g T GERT 3HP PRI (Reason R) & $T H:
HUFHYT A : SPRIG T4 WA § |

HRUIR : Al THT G118 | $© Yeg HUATE 51 6. SHICIU BRI 5id gU i gl Wi g1 § |
JURIE YU & 3Teiles H, Hid [SU U g eul & I 9ad Iugad SR &1 997 i |

(1) ASRREH TEIE AMRR AT TEl arEn ©

(2) A3RREH TEE AfPTR AP IS UrE e

(3) AGEIE AR TET TR ®

@ AT TS AR TE

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]
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Choose the correct sentence.
(1) We went to the station to see them off.
(2) We went to the station to see them out.




(3) We went to the station to goodbye them.
(4) We went to the station to say them goodbye.

ﬁaaﬂ?ﬁ?‘é"@%’@&ﬁiﬁﬂ? (ASSCl'tionA)%mﬁ%@ﬁ%ﬁwmmmeasonRj*Wﬁ:

fiymeyT A ¢ ToT T v © |

FRU R : o0 oFRia 9=k & | AT 9 s@Ria wee qfee T8 8 © |

IURIEd B & TS A, A G0 T el § 9 999 99gad JuY B 969 S
(1) ASRRIF 8§ IRR, A ¥ w8 o &

(2) A SRR 3H 96 & fEa R, A 9 981 sorem @ 8

(3) AvfigafaR T AE 2

(4) ARz R EE R

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]
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Match List T with List II

List I (Wood) List IT (Synonym)
A, [pervasive I filter
B. [sieve II.  widespread
C. |potent III.  Inetting
D. lmesh IV jpowerful

Choose the correct answer from the options given below :
(1) A-IL B-I, C-IV, D-III
(2) A-IV, B-III, C-II, D-I
(3) A-IV, B-I, C-IIIL, D-II
(4) A-III, B-I, C-II, D-IV

a1 19 F1Y Gl 11 D1 [ iy
T 1 Tt 11
TeAr [ [=iifd e

A [emR

B. [®3Tdel gl 1 |[YRT 3maf 31 S
C. [Pais Gar 111 |forsl & 3R OR 191
D. [Goial dSTgHT IV, [He e §Hl

= fSu U [d@ el § O 9l 3Ux &1 994 i
(1) A-IIL B-IIIL, C-IV, D-I
(2) A-IIL B-IV, C-I, D-II
(3) A-IV, B-I, C-II, D-III
(4) A-L B-IL, C-IIL. D-IV

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]
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Which two of the following are in correct form ?
A. Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema, shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

Rmar fFa g I s W 8 2

(1) Tiofs urg

(2) SRumfE Uy

(3) M H1g

(4) Hg= g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]
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Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend

(2) Reprimand

(3) Flagellated

(4) Commotion

T @ WelE BT T e g ?

(1) = & oio=ia 99 el § |

(2) T=ga & ff wvmTa S T §

(3) =fEaEs eria T I sgaa- & figa gl ot 2 1

(4) T eRIfEM e S g R SR T F AR T T ¢ |

1[Option ID=19285]
2[Option ID=19286]
3[Option ID=19287]
4[Option ID=19288]
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Identify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles” ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the crocodiles.




fora e &1 IR oia <ifaw 9g U= 5, S Ty 99N $Ed © | W9 SaTey gie |

A gfgmEs
B. &&mquf
C.=g9%=
D. Sy
E. 3maH
=i fau U el # @ 99 9Ugsd 9IR #1994 SIS
(1) ¥@@W A, B. D
(2) ®WB.C.D
(3) FWC.A. B
(4) #UD.E. C

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]
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Which of the following is a one-word substitute for 'safe to drink' ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

WHT 59 Weg B (95 # § SH-91 i e § 7
(1) R4

(2) F@e

(3) =iy

(4) TwEE

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]
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TIdentify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under
(2) below
(3) above
(4) beneath

FmffEa & ge e § -
A, SETETR
B. W=
C. frER

D. &S
E. =3

i fau 1y fgsedi | | 999 Iuge 9T &1 904 S
(1) T A, B. C
(2) 3@ B. C.D

(3) ®@ C.D.E
(4) @ A.D.E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]
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Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things

T[E 9T H1 98 S |

(1) TP SHE B G € o |

(2) 1S S TS S B |

(3) TU® & & gI1 & f |

(4) O & TS I & o |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
QBID:15550211

Amid economy crisis and political turmoil m Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

Siciat & anfifer Yare Ua oo =i & S dideT & Ta1 vy 59 Frged e mar g 2

() Ffare F{RET

@) T fasafdd

O EEARIE B2

(4) TETTT IS4

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]
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Who has become the First female to took the office of President of Tanzania and the third woman head of the govermment of country in
East African Community ?

(1) Samia Suluhu Hassan
(2) Agathe Uwilingiyimana
(3) Sylvie Kimigi

(4) Sahle-work-Zewde
A & pufd S Ug 4R T50 S arell e afean SR gif sieiet eaEe § aw @ SR wiE o= ol died wfgen a9 &+ 2
(1) T g §56

(2) arma SRRFREER

(3) Tyeal i

(4) WEU-9% Wag

1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]
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India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held in :




(1) India

(2) China

(3) UAE.

(4) Egypt

SCHRAT YIS WIE Hhe¥H ds U 2022 H YRA = TUH RIF 9w 61, i smieH o gan o :
(1) YRd

@ =i

3) U

) foy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]
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Who has won the Men's Single Title at 79th Edition of the Ttalian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Novak Djokovic

(3) Ratfael Nadal

(4) Roger Federer

T H TR gerfera= Siuq % 799 S § 99 ol & UST (Aare &I e oial ?
(1) =g R

(2) Fw SwiEE

(3) Wra Fem

(4) IoR e

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]
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‘What is the current year estimation of the GDP growth according to the Nirmala Sitharaman in the Union Budget 2022-23 ?
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

e Hiarmw g1 T $EE a9 2022-23 © ATIR 91 78 @1 oS 9fE 1 egEE e € 2
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
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All the intellectuals are very emotional, because :
A. They are thinking beings

B. They are logical beings

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :
(1) A.D Only
(2) B. C Ouly
(3) C.E Ouly
(4) D. E Only

TR gt sgd WgE B € i

A, T G g uil
B. T aifee umft & |
C. & miftrdig uni § |
D.3deEfaE & |

E. 9IS & |

1 fau U el # @ 999 9uge 9IR #1994 S
(1) ¥TWA. D
(2) ¥ B, C

(3) FT@C.E
(4) @@ D. E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]
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Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player 'XYZ' have hatred for other team-mates
D. Player 'XYZ' shows jealousy

E. Player 'XYZ' shows patience

Choose the correct answer from the options given below :
(1) A.B. C only
(2) A and C only
(3) B.C.D only
(4) A.B.E only




e & [Eenisdl & &y g [geey gy |

A. fEadl 'XyZ' &8 yie veftfa s & |

B. it 'XyZ' # Sw-yigr e |

C. g 'XYZ' # su du-vewf F A gun ¢ |
D. f&@E 'XyZ' wa- weitfd sar & |

E. fEemdt 'XYZ' & vyeftfd S 2 |

19 fow U fasedt & ¥ S99 SUgEd IR B 994 SO
(1) FMWA.B. C
(2) FITA SR C
(3) ¥@B.C.D
(4) FTW A, B.E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]
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A person can learn Sanskrit without a teacher :

A Tt 1s not possible learning Sanskrit without a teacher: as it is a technical subject.
B. It is possible to learn Sanskxit as it is non-technical subject.

C. Anyone can learn it; as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B. Cand D only

(3) A.B and E only

(4) A and D only

i3 oafed fa1 fasll sraTs & Teoa e 9@ &

A. &1 eromoE ¥ Tepa diE 9RE T E, T 0% UF aeiel AR |
B. ¥55hd diE-T 9mg ¢ Fif 98 U6 R-aFHe! [ug

C. S8 =i 1 9rg e & w0ilE U $o0 UF U B |

D. Tz &5 eramos 1 suva ¥ 3fe anar & mream 9 i aedi B |
Emftdfivoeon El o s tmama s |

=9 fou U fasedt & @ 99 SUgSd 3R & 904 S
(1) FTTA SRE

(2) ¥T@B, C 3R D

(3) $TAA, B IR E

(4) FOUA FRD

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]
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Give below are two statements :
Statement I : Pollution level in Delhi may be reduced by reducing the factories.
Statement IT : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below
1)
(2)
3)
(4) Statement I is incorrect but Statement II is correct

TR d R feu m g

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement II is incorrect

HY | ; fawht & UgHo &1 R $REH 9 $ 71T § 9er] of 96l § |
FYT ] | ; 9R FREH AH-HEU TF Y © SR Wl & [0 96 ¢ |

SR BY & H@lS #, 4 1§Y 70 el # ¥ 999 Sugead IR &1 90 S

(1)
(2)
(3)

S [ SR I 2 T B
HU | Sk 11 21 e
FRITE AT A TEE e

(4) SYA [ T &, dfeed Sy 11 981 8
1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]
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Give below are two statements :
Statement I : Education is important for both male and female.
Statement II : Government must encourage co-education. as it is required for country's development.

In the light of the above statements. choose the most appropriate answer from the options given below
(1)
(2)
(3)
(4) Statement I is mcorrect but Statement IT is correct

913 & o e Mo &
FUT [ - quT SR Afemsd, ST, F o fen Aeaqei € |
FUT] | : TWER F1 T5-161 F1 WeHe &1 Ty Fife 75 0 % Fe™ & i smws §

Both Statement I and Statement II are correct
Both Statement I and Statement IT are mcorrect
Statement I is correct but Statement II 1s incorrect

IuiE FYF & S 4, A fay Ty fecd § § 999 Juged I &1 994 S0

(1)
(2)
(3)

CRE B TR i
®Y [ 3R 11 21 7Tod §
T 98 8 o s I oa &

(4) FY= ] T & A e 11 98
1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]
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E 5 i then the valueof ., 1 s
X +—=2 X+ —
x x
(1) =2




(2) =8

3) =1
(4) =4
alg 1 @, 1 FHIAEGA-
x+—-=2 D o
s x
(1) =2
(2) =8
3) =1
4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]
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Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:9.
Reason R : If the swiface areas of two cubes are in the ratio S| : §;. then their volumes are in the ratio §7° - 537

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Aistrue but R is false
(4) Ais false but R is true

1 3 S AU TTU & TS SHHYUT (Assertion A) & &0 H fAREd g Tl GO 3P PRI (Reason R) & $T H:
HTUHYT A : AE G- & ST BT S 3:27 © df 395 a6 AP B AT 4:9 TR
BRUIR : T &1 941 & Hag S7D DI S S, : 5> 6 Al 37 Y BT UM 52 - 53¢ BNl

JRIGT $UA S AP 4, - 120 70 [dwedi I T 61 IR &1 907 S |

(1) ASRREAIIAE IRR ADI TS AR E

(2) AJRRIA TAE, APTR. AT Te BT Tl ©

(3) AR AfGTR 3ETE
(4) AT APIRTAT

1[Option ID=19257]
2[Option ID=19258]
3[Option ID=19259]
4[Option ID=19260]
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If the high and base radius of a cone are increased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) 8:27

(2) 75:32

(3) 32:75

(4) 27:8

g1 (il 2 1 3918 3R SR B0 BT HHRE: 50% HR 25% T¢I 1481 9IY dl R P SR T4 WP & 317a- 1 39T s -
1) 8:27

(2) 75:
(3) 32:
(4) 27:

%)
L "I )

[ s |

1[Option ID=19261]
2[Option ID=19262]




3[Option ID=19263]
4[Option ID=19264]
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The probability of selecting a vowel from the word TRIANGLE is -

(1)
(2)
(3)

(4)

=& TRIANGLE # 9 0% R T &1 Iididal &1 Gril-

(1)
(2)
(3)

(4)

Calln GOl b G = | ba = GOl 021 W G20 = ]| k2

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]
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If one root of quadratic equation 9,2 _3,4(2x+1) =0 is five times the other then the value of k is :

3
1) —
16

(2) -

(3) -

[N IV ;lw

3
4) -
g

SEIHTT TP .23, 4 (2% 4 1) =0 P1 TP T G BT U1 1  ff ke 1T A1 1 BFT 2

3
(1) —
16

(2) -

(3) -

[<- NIV ;lw

3
4) -
g

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]
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All of the following characteristics are attribute of mentally healthy person except ?

(1) Person is free from internal conflict.
(2) Accepts criticism and doesn't gets upset.

(3) He becomes over whelmed by emotions such as fear, anger, love ete.

(4) Has a trait of self-actualization.

fafafaa ¥ 9 o9 3 fagvar e ariie &9 O W Si6d &1 T80 Tel 6 2




(1) Hfd SREg YT © |

() 3HAE &I WIHR HIA1 ¢ Ud Iar ol oidl |

(3) T8 HIGAIHD ST A THITAT Bl Il & OR S, TR UH Sais 9 |
() 3T P IAGHAT PIAYUEATE |

1[Option ID=23501]
2[Option ID=23502]
3[Option ID=23503]
4[Option ID=23504]
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Balance boards and stability discs are used for training in sports injury cases. Which component they address specifically ?
(1) Strength training

(2) Power training

(3) Proprioaptive training

(4) Coordination training

e a1 g w i fow &1 var Sues 3 6T 91el F e & fea o € 1 3 59 ftive: sefm s g 2

() FugFm

(2) dHigw g

(3) wifERR g

(4) w-3fif&Tmm efm

1[Option ID=23545]
2[Option ID=23546]
3[Option ID=23547]
4[Option ID=23548]
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A hargh, high-pitched crowing sound that occurs with upper airway obstructions caused by narrowing of trachea/glottis is called as :
(1) Crackles

(2) Stridor

(3) Stertor

(4) Wheeze

YT /T & GHI0 o § Sud SO UERe | §1Y1 & Y A arell e, Sl g gl @ Bl FEE |
(1) Hoed

(2) xEs

(3) =&

(4) @

1[Option ID=23589]

2[Option ID=23590]

3[Option ID=23591]
4[Option ID=23592]
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For re-education of innervated muscles which of the following current is used.
(1) Low frequency TENS
(2) Interfersiential current

(3) Faradic current
(4) Galvanic current

sRdcs net F R s e fm i me s e 2 2
(1) = smgi TENS

(2) SevhifEy e

(3) Hifzs Feme

(4) T e

1[Option ID=23633]
2[Option ID=23634]




3[Option ID=23635]
4[Option ID=23636]
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One of the following is benefit of Shavasana
(1) Removes stiffness of back muscles

(2) Helps to remove fatigue

(3) Helps in increasing lung capacity

(4) Improves spinal mobility

5 # 9 1% EreE 1 a B

1) =W/ b5 =1 AR 1 FsT seaT |
(2) Y&H FIFE@t |

(3) THSI FT 4Hd &I Tl & |

(4) TR AfERE Sera |

1[Option ID=23677]
2[Option ID=23678]
3[Option ID=23679]
4[Option ID=23680]
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All of the below are early phase rehabilitation goals of Total Hip Arthroplasty except :
(1) Prevent vascular and pulmonary complications

(2) Prevent postoperative dislocation or subluxation of the operated hip.

(3) Active mdependent functional mobility prior to discharge.

(4) Action maximum flexion of the operated hip

cled By smifwfe & wifis grate & 3 ol wsg B, o sa-

(1) FEFTR g GeHAd wieerdns &1 gz ¥l

(2) MRIES By =1 (ST STl TEaREH & S|

(3) fewmmdt & qd wads warma Aifafe e s

(4) sffEs f2u &1 sfiean weeH s &l

1[Option ID=23721]
2[Option ID=23722]
3[Option ID=23723]
4[Option ID=23724]
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Most appropriate type of taping or bandaging material to restrict motion of a peripheral jomnt is :
(1) Elastic adhesive tape

(2) Prewrap with pads

(3) Compression Bandage

(4) Rigid adhesive tape

e afveha wis @ Tfafefy 1 ST #39  fog 999 Sugea ot a1 93 afteaa &

(1) SIRE® 3fgeid <d

(2) 39 fag I=w

(3) TrEE $34

(a) ffors srspRm e

1[Option ID=23765]
2[Option ID=23766]
3[Option ID=23767]
4[Option ID=23768]
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The closed-packed Position of the humero-ulnar joint is
(1) Elbow extended and forearm pronated
(2) Elbow flexed and the forearm supinated




(3) Elbow extended and the forearm supinated
(4) Elbow flexed and the forearm pronated
FOEYI- TR WIE @ aain-de fufd 8-

(1) T TENCR U B W

(2) UEE WHEH T8 BRAH FOA8E

(3) T TSGR UF B giewE

(4) T WHEH Td BRe TEEE

1[Option ID=23793]
2[Option ID=23794]
3[Option ID=23795]
4[Option ID=23796]
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Abduction-Adduction of carpometacarpal joint of thumb takes place in
(1) Frontal plane and AP axis

(2) Saggital plane/coronal axis

(3) Horizontal plane/vertical axis

(4) Transverse plane/longitudinal axis

TS F HIU-HeIdd 95 W ATSaR - HSHH 598 il -

(1) T B R AP. ofFew

(2) Sfiren w4 R FRA Ul

(3) Efmen @ o aféea ulsr

(4) i @7 SR el ieas

1[Option ID=23797]
2[Option ID=23798]
3[Option ID=23799]
4[Option ID=23800]
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You are performing sensory test on a patient diagnosed with C4 nerve root impingement. Testing should concentrate on the
(1) 374, 4t and 5T fingers

(2) Ulnar border of the hand

(3) Thumb and index finger

(4) Medial fore arm

Y U T8 T Ox Hadt oliem w1 R & formet e €6 ¥ 9 omuga $ w9 § e w2 | wiew 51 S Sal a1 91iee ?

(1) s, 9f qun ot sRgfeat

(2) B1Y BT e Fed fem

(3) 3T aYT dal SRR
(4) T 3 - g

1[Option ID=23505]
2[Option ID=23506]
3[Option ID=23507]
4[Option ID=23508]
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Which one is not a guiding principle of biomedical ethies ?
(1) Beneficence

(2) Maleficence

(3) Justice

(4) Autonomy

T ¥ T s Ea Hiftmre @ five s i g 2

(1) wEgSTRa

(2) sfEew

(3) =roEiieEr




(4) <AETdAm

1[Option ID=23509]
2[Option ID=23510]
3[Option ID=23511]
4[Option ID=23512]
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If the torque produced by muscle is less then resistance then type of muscle contraction is
(1) Concentric

(2) Isometric

(3) Isoinertial

(4) Eccentric

af e HiHUE g SOH b ST W AT gUIRRIY S A B @I, U5 VR $1 AUl 1 IFa- 2 |
1) ==Rs

(2) sMEEHEE

(3) sMEHIEARET

(4) TECE

1[Option ID=23513]

2[Option ID=23514]

3[Option ID=23515]
4[Option ID=23516]
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The problems that an individual may experience in involvement in life situations and social interactions are called as :
(1) Impairments

(2) Participation restrictions

(3) Compeosite impairment

(4) Personality disorders

wfdd % g wias uiiRuf e S Ae-Sid & SR ST B T Siesal & ... FEAGC |

(1) EFEE=) il

(2) FeHIRT Wiy @i fifamm)

(3) Tffm yfoal @imoifee o=

(4) fda g (i feasiidy

1[Option ID=23517]
2[Option ID=23518]
3[Option ID=23519]
4[Option ID=23520]
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Which of the following is a mixed cranial nerve ?
(1) Optic Nerve

(2) Glossoplaryageal nerve

(3) Hypoglossal nerve

(4) Abducens Nerve

g & @ 71 1 foews Smm ad 2 2

(1) sifps 7

(2) BRI 7

(3) ErEUrEE T

(4) SEFTE A4

1[Option ID=23521]
2[Option ID=23522]
3[Option ID=23523]
4[Option ID=23524]
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Down's syndrome is characterized as :
(1) Trisomy 16

(2) Trisomy 18

(3) Trisomy 21

(4) Trisomy 13

o4 fargm #T fagom &

(1) FrEEE 16

(2) FrEe 18

(3) grEEm 21

(4) grEEE 13

1[Option ID=23525]
2[Option ID=23526]
3[Option ID=23527]
4[Option ID=23528]
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"Lhermitte's sign in multiple sclerosis is a sign of :
(1) Vertical spinocerebellar tract

(2) Dorsal column
(3) Rubrospical tract

(4) Anterolateral system

Aee T TR § 391 9 9 weihe 9154 FT HHA 2 |
(1) 30 ARG gae

(2) =i wfem

(3) TEEAEAN Ee

(4) T-eTa faen

1[Option ID=23529]
2[Option ID=23530]
3[Option ID=23531]
4[Option ID=23532]
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The defence mechanism in which a person blames others to relieve his tension or anxiety is called as
(1) Reaction formation

(2) Projection

(3) Rationalization

(4) Repression

T% JIaRET AL WEl UF oied o9+ a1a O1 a1 & $5 3 [0 el W 36 Se &, 9d FEa T |
(1) Rua=F wrHEE

(2) dEEm

(3) TEFETEERHA

(4) foEE

1[Option ID=23533]

2[Option ID=23534]

3[Option ID=23535]
4[Option ID=23536]
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Which of the following is/are methods of prescribing intensity of exercise during Pulmonary rchabilitation
(1) Symptom-limited exercise prescription

(2) Percentage of VO, max

(3) Percentage of heart rate reserve

(4) All of the above

T FRRRREE & Sre e &1 diaa GeRE) Fuifa $3 F Rt 78 8-




(1) Fymeq - s Ty UiserEH
2) Vozmaxﬁiuﬁ?mﬁfl

(3) wrR-¥e fwod % wftea &
(4) Iugaa at

1[Option ID=23537]
2[Option ID=23538]
3[Option ID=23539]
4[Option ID=23540]
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Rotational techniques on lumbar spine are used to
(1) Restore normal spinal movement

(2) Centralize pain

(3) Relieves pressure on nerve roots

(4) All of the above

e W15 U1 USEHT dob-ie! BT WERT 5% (670 5iaT &:-
(1) WA ATHE & GH & & (610

(2) =2 & $fed ¢ & g

(3) =i % I&TH & IW S 2019 Fel

(4) IoiE 94

1[Option ID=23541]
2[Option ID=23542]
3[Option ID=23543]
4[Option ID=23544]
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All these are goals of a cardiac rehabilitation programme except :
(1) Decrease cardiac morbidity & relieve symptoms

(2) Primary prevention of cardiac discases

(3) Decrease anxiety and increase knowledge and self confidence

(4) Increase fitness

8 § o Fiidas Ehfees siee & as ¢ fyam s9e:-
(1) Fidas ARMEE sRawar 9 o T # B9 S & 1
(2) wiéas mufts w9 F 7Y Geg Ber )

(3) i 9 #¢9 U8 I AR JEfay™ e & g

(4) =R Jugeaal sgH & o

1[Option ID=23549]
2[Option ID=23550]
3[Option ID=23551]
4[Option ID=23552]
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All of these are contraindications to intermittent positive pressure breathing except :
(1) Pneumothorax

(2) Hemodynamic instability

(3) Large bullae

(4) Chronic bronchitis with sputum retention

54 ot # gexfice oifufes T $iifdn wor-3fesfes 3 fam s9&-

(1) AN

(2) EHEEAHS gIeiare

(3) T

(4) B® siwEed Sk TEA &1 M

1[Option ID=23553]
2[Option ID=23554]




3[Option ID=23555]
4[Option ID=23556]
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The theory of sensory integration was developed by :
(1) Ayres

(2) Bobath

(3) Jung

(4) Plummer

el gfeamm &1 Riglhd 57 g fear an u-
1) s

(2) dEy

(3) o

(4) @AY

1[Option ID=23557]

2[Option ID=23558]

3[Option ID=23559]
4[Option ID=23560]
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Theraletin tunnel used for UUR irradiation is given with which of following lamp ?
(1) Alpme sun lamp

(2) Kromayer lamp

(3) Fluorescent lamps

(4) Incandescent lamp

UV 5l 33 & i vges el cn A fmdd s e dm wm s 2 2

(1) FFarE w9 o

(2) HAR T4

(3) wREe o

(4) TS T

1[Option ID=23561]
2[Option ID=23562]
3[Option ID=23563]
4[Option ID=23564]
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COPD oceurs due to
(1) Chronic airway inflammation and narrowing

(2) Pulmonary vascular thickening
(3) Parenchymal destruction

(4) All of the above

39 RO COPD B &:-

(1) diderite wed # goH ud 9=
(2) weHFd SuHeR s

(3) WA S

(4) Fugaa wt

1[Option ID=23565]
2[Option ID=23566]
3[Option ID=23567]
4[Option ID=23568]
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The patient has sustained stroke, one week ago. On examination you find patient is able to understand your instruction but he speaks
slowly, hesitantly with one or two word production. He is having

(1) Wernicke's aphasia
(2) Broca's aphasia




(3) Dysphagia

(4) Apraxia

nﬁaaﬁw;wqﬁ@aig&n | T FH R 0 W F o o e Sl W A iR e w o d v s w ? |
RL: | i

(1) 3 spfem

(2) e el

(3) fa=plomm

(4) i

1[Option ID=23569]

2[Option ID=23570]

3[Option ID=23571]
4[Option ID=23572]
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The median of data 20, 14, 5, 10, 12, 8 is
1) 5

(2) 10

3) 11

(4) 8

T4 1A B AfEE - 20, 14, 5, 10, 12, 8
) 5

(2) 10

3) 11

(4) 8

1[Option ID=23573]

2[Option ID=23574]

3[Option ID=23575]
4[Option ID=23576]
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The isokinetic dynamometer provides all these features excepts

(1) Maximum loading of muscle throughout the range of motion

(2) The equipment accommodates for painful motion.

(3) Concentric and eccentric contractions of the same muscle group can be performed repeatedly.

(4) It simulates lower extremity function as it works in close kinematic chain movement pattern
T vt srsgi@TEafes saaHHeR 3f f[agivant 8 Raw sgd:-

() TEYRN B YU IS P HRE T SHUHaH 1S B3

(2) SEHI HIYH & foQ gemifod Sl

(3) UF & AL B SRS SR TR E FreatH TR-GR Bl

(4) g5 uid & P B Feilel PEHeeH o gRT g9l 2

1[Option ID=23577]
2[Option ID=23578]
3[Option ID=23579]
4[Option ID=23580]
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Cause of Avascular Necrosis of femoral head is
(1) Alcoholism

(2) Hypertension

(3) Perthe's disease

(4) Osteoporosis

foFEIT 25 % EARg R JHIad BT SR o
(1) TEslieed

(2) fi® To0d™ GREMeEN)

(3) wife e




(4) fEgmiig

1[Option ID=23581]
2[Option ID=23582]
3[Option ID=23583]
4[Option ID=23584]
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One of the following is true about forearm bones

(1) The tip of radial styloid is about 1 em distal to tip of ulnar styloid.
(2) The tip of radial styloid is about 1 em proximal to tip of ulnar styloid.
(3) The distal end of radius articulates with meta carpal bones

(4) The distal end of ulna articulates with meta carpal bones

g ¥ 8 1% opEg & ofudl & fovn § v -

(1) Yeou =ooms &1ty s R weoas S R0 3 1 om = sdl B

(2) ¥ega wEdias o foy ot wRdgs 31 RO | om MiFga gl & |
(3) ¥agw =1 foed wws B S gsa 2 |

(4) EH &1 {5 gus Ael-ada S gear & |

1[Option ID=23585]
2[Option ID=23586]
3[Option ID=23587]
4[Option ID=23588]
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The drug used for treating Myasthenia gravis is
(1) Neostigmine

(2) Pyridostigmine

(3) Corticosteroids

(4) All of the above

Aaiifar 3T % SR § vgad <01 3

1) e

(2) UEREETH

(3) Fiitzifias

(4) Judaa wi

1[Option ID=23593]
2[Option ID=23594]
3[Option ID=23595]
4[Option ID=23596]
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One of the important aspect of retaining hospital personal 1s
(1) Equitable & timely salary

(2) Motivation to do research

(3) Professional growth

(4) All of the above

AT HHATE] & WiauRo & g sewagof 8-

(1) TAIY Ud M da

(2) fEYH & fog Ui e

(3) =TI AP

(4) Ioged i

1[Option ID=23597]
2[Option ID=23598]
3[Option ID=23599]
4[Option ID=23600]
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One of the following is true about heart sounds - S; & S,




(1) Systole occurs between 5, & S,

(2) Diastole occurs between S; & S,

(3) Systole occurs after S,

(4) Diastole occurs after S;

Ted @1 @il - S R S, & e # uF v B
(1) REm g, RS, FdaAga?

(2) SIEEE S, R S, & S AgEE

(3) R S, & o1e g &

(4) SEE S, F 8 T &

1[Option ID=23601]
2[Option ID=23602]
3[Option ID=23603]
4[Option ID=23604]
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The dependent secretion removal technique used for patient with COPD is

(1) Acapella

(2) Flutter

(3) Therapep

(4) Percussion
COPD ¥ 77t & fo ugea Tedge M foma aade 2l
(1) P

(2) T

(3) #REg

(4) WA
1[Option ID=23605]
2[Option ID=23606]

3[Option ID=23607]
4[Option ID=23608]
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Extremely communited distal radius fracture should ideally be held in alignment with :
1) k wires

(2) Internal fixation

(3) Bone cement

(4) External fixation

foea Yeow & o sgfafes Thaer & oo & R 59@1 WarT &1 91w

(1) K-Wires

(2) e haEE

(3) [ dife

(4) T FREE

1[Option ID=23609]
2[Option ID=23610]
3[Option ID=23611]
4[Option ID=23612]
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MMT for isolation of Gluteus maximums in grade 3 requires the following positioning of the patient
(1) Prone lying

(2) Prone lying with knee flexed

(3) Side lying with knee flexed

(4) Side lying

oy AfTeAE 1 UF grade-3 MMT # fig 7l &t Rufa &0 &+ =g




(1) U & §q el
(2) Y€ F 99 tes gl /g ol
(3) FIGC § UEHL YA °ig o
(4) FEc § de

1[Option ID=23613]
2[Option ID=23614]
3[Option ID=23615]
4[Option ID=23616]
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As a result of gait analysis, a therapist has determined that the patient ambulates with excessive foot pronation. This deviation would not
occur as result of

(1) Compensated forefoot varus

(2) Internal tibial rotation

(3) A weak tibialis posterior muscle

(4) Excessive ankle dorsiflexion

fafewe e TR % SR 3 § fF It e die sifitean weme A vas 9o @ 9% Sfuee &1 SR T B
(1) SIS BR FE a7y

(2) g fefema dewm

(3) el RSN AR S FHAN

(4) T=RRE (@fiean T=a sitiweRE

1[Option ID=23617]
2[Option ID=23618]
3[Option ID=23619]
4[Option ID=23620]
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Easy lung inflation or the chest wall expansion during ingpiration is related to
(1) Elasticity

(2) Resilience

(3) Compliance

(4) Distention

dfedEm F ded & sraye T SR e O qumw fEadt s € wod € O T Oeiud a-

(1) genefRaE

(2) furfierg

(3) FHEaIEHA

(4) fem
1[Option ID=23621]
2[Option ID=23622]

3[Option ID=23623]
4[Option ID=23624]

Sl. No.63
QBID:969142438

Major function of fibrinogen is
(1) Bloed clotting

(2) Defense against infection
(3) Lubrication

(4) Absorption of Vit B,
epfareT &1 e =1 -

(1) %R whaA

(2) HeHHU F Ulere

(3) lerseH

(4) faerii= B, ®1 smmiym

1[Option ID=23625]
2[Option ID=23626]




3[Option ID=23627]
4[Option ID=23628]
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The social level of function as per WHO-ICF model (2001) is
(1) Handicap

(2) Disabilities

(3) Participation

(4) Activities

WHO-ICF At (2001) # &1 &1 g 2l
(1) 3eren

(2) arEmaTd

(3) YR

(4) wifafateat

1[Option ID=23629]
2[Option ID=23630]
3[Option ID=23631]
4[Option ID=23632]
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A condition that requires caution for percussion technique to be given on chest of a patient with secretions is
(1) Flail chest

(2) Auscultable crepitation

(3) Patient diagnosed with bronchiectoris

(4) Patient diagnosed with COPD

AW B Bl W UGS &d FHY 59 URIRUfT H Sy gH =i

(1) wIEE

(2) ofiEwucad HiucEH

(3) wiw 5@ dFrumefae 2

(4) =i 5% COPD 8

1[Option ID=23637]
2[Option ID=23638]
3[Option ID=23639]
4[Option ID=23640]
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Given below are two statements :
Statement I : Tidal volume is an amount of air inhaled or exhaled during normal resting breathing.
Statement II : Tidal volume 1s 1000 ml.

In the light of the above statements, choose the mest apprepriate answer from the options given below -
(1) Both Statement I and Statement II are correct

(2) Both Statement [ and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

4 2 e Ry M &
®Y= 1: eSS0 dicqd 501 $1 95 A1 § ofl & T R 499 & I 3feT 97§16 B ol § |
DY 11 : TS aiegd 1000 ml 6t & |

ST BYA & AAF H, 419 G 1Y Feed § § 999 ol SwW &1 99 S
(1) FYF] R EH 9T

(2) S ARII 39 &

(3) FYF] 9@ 3, Tl [[ 39d &
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1[Option ID=23641]
2[Option ID=23642]
3[Option ID=23643]
4[Option ID=23644]

Sl. No.67
QBID:969142442

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reasons R.:

Assertion A : The patients of Parkinson's are advised to follow the high-calorie, low protein diet to maximize the responsiveness to L-dopa therapy.

Reasons R : High protein diet block the effectiveness of L-dopa.

In the light of the above statements, choose the correct answer from the options given below -

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R true but R is NOT the correct explanation of A
(3) Ais true but R is false

(4) Aisfalse but R is true

2 €1 Fy fag 70 % UF SHfHFUE (Assertion A) F w9 # ffEd 8 A gE S9F SR (Reason R) & ®UFH,

iy A UiET % 7w B AER # s Sar 09 BA UdE 09 #1 9aw & wigl & oed L-sia afedt 21 wfatear aftveas =5 w®

PR R : AfF 0T O SR L-S9 % JHE H 363y 30d Sl § |

IUgad SUH & TS H, - 2y 70 fAedl # 9 98l o &1 9 s

(1)
(2)
(3)
(4)

A dRR IH SO E AR R, A ¥ TS @ &

A SR R i 9 & @fea R, A 91 98l aren 781 &
ATOE AT R smT B
Aw@e W R T@E

1[Option ID=23645]
2[Option ID=23646]
3[Option ID=23647]
4[Option ID=23648]
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Given below are two statements : one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A : Abnormal lower limb biomechanics may predispose some individual to pain on the anterior or medial border of tibia
shinsplint.

Reason R : Application of a vibrating tunning fork along the subcutancous border of the tibia can be used to diagnose shinsplint.

In the light of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Both A and R are true and R is the correct explanation of A
Both A and R are true but R is NOT the correct explanation of A

A is true but R is false
A is false but R is true

#1931 w4 AU 7L 7 UF AfUFUA (Assertion A) F ¥ H &4 & @ 99 39% SR (Reason R) & ¥UH,

sftrpye A ; IR # s St ow wfddal S 2 F uftefar o Fiftaw arst W 5 (@B Rufte) & g gd-vga s 9@ 2

DR R : 104 g @A & 4o & 2fam F smas ad ® o fn it s fem s ssa £

T9gE FYE F A § 9 By 7 el § @ vl o 51 9w i
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(2)
(3)
(4)

A R R EFi 9w & SR R, A #1 e o

A 3R R g 5@ € dfs9 R, A &1 98 arem 381 8
ATOE AT R oW 2
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1[Option ID=23649]
2[Option ID=23650]
3[Option ID=23651]
4[Option ID=23652]
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Discourage breath holding during excercises.
Reason R : Breath holding elicits valsalva maneuver that stresses the cardio vascular system.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false
(4) A is false but R is true

2 €1 Fy AT 0 & TF SAfHFUT (Assertion A) F w9 # i@ § @ g¥ S9F &R0 (Reason R) F TIH,

fFyepery A : T B R WY TP a7 & Ay |
HIOT R : 99 97 H aeATeal-Ta% oidl & (99 sa-aneel od 0% gamd 95l 6

F9ed T ¥ ol # 2 Rg m e § | 98 s w1 9
(1) ARR I ST E SRR, A #1981 e &

(2) A SRR g 9@ £ 95T R, A 31 98t omem 781 2
(3) AT 2 aFIR sma 2

(4) Aae AT RTTE

1[Option ID=23653]
2[Option ID=23654]
3[Option ID=23655]
4[Option ID=23656]
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The impingement of soft tissues between humeral head and coraco achromial arch commonly occurs.
Reason R : The majority of the force of Deltoid muscle if unopposed causes upward translation of the humerus.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false
(4) A is false but R is true

#2 €1 Fy fay 0 2Ue AU (Assertion A) & w0 # fif@d 8 & €90 39S FRU (Reason R) & ¥4 H,

Y [ URUG: GOEH SHh! S 5ZA & ¥ AR SRe! THHI-Ed 919 & §9 H19gH g1 8l
oY 11 - ofc Swios Araustt &1 His su ARy W 8 @ 96 TR & SR &1 0 RIFaRd & ¢ |

SugE B & Hclie H, A1 2y U fEeedl # § 999 Suge IR &1 901 Sl
(1) =] AR S Wt 2

(2) FYF AR = Tad &

(3) T TH 2 AFAPUA 1 T F

(4) ®u 1 3R 11 & o ©

1[Option ID=23657]




2[Option ID=23658]
3[Option ID=23659]
4[Option ID=23660]
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Given below are two statements : one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A : Preoperative neuromuscular facilitation techniques used for stretching integrate active contractions into stretching
maneuvers.

Reason R : When muscle fibers are reflexively inhibited through autogenic or reciprocal inhibition, there is less resistance to elongation
by the contractile element of the muscle.

In the light of the above statements. choose the correct answer from the options grven below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Aistrue but R is false
(4) Ais false but R is true

2 €1 Fy fag 70 % UF SHfHFUE (Assertion A) F w9 # ffEd 8 A gE S9F SR (Reason R) & ®UFH,

siftrmy A ®RF % T vgea aifdRie mRivegeR aeie g aieish seee w1 @R g § 9y @iea s g
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SUgsd FUA % s H, TR 2y 7 et § ¥ 999 ougsa o = 997 Sive:

(1) ASRRIFAITUE AR R, A F1 w6 amran 2
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(3) AT AFAR WA T
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2[Option ID=23662]
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Proteing are most abundant organic molecule of living system.
Reason R : Proteins constitute about 80% of cellular dry weight.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R 1s false
(4) A is false but R is true

12 €1 Fy Ry 70 & UF ofHEU (Assertion A) F w9 # ffEd & @ gE S9F R0 (Reason R) & ®UFH,

SififmyA A ; Sia-wma § WEF Sfy-TR e o gl

DR R ; U SR I YR ¥ deded 80% IeH &3 &

Iqgad SUH & TS H, A 130 7 el § 9 98l g &1 99 sl
(1) AFRREAI GO E IR, A =t 951 TEm &

(2) A ¥R R 3Fi o & @A R, A # 98 ooren 781 &

(3) ATAE aFIR ama?

(4) Aswae dfETRET@?




1[Option ID=23665]
2[Option ID=23666]
3[Option ID=23667]
4[Option ID=23668]
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Feedback loop in Biofeedback is best described as :

A. Detecting or measuring of physiological change.
B. Physiological change.

C. Conscious control of physiological change.

D. Visible or auditory indicator display.

E. Visible or auditory perception.

Choose the correct answer from the options given below :
) EED.C.B.A
(2 B.A.D.E.C
3) EED.B.C.A
(4) AAD.B.C.E

TEEIEES § Blsas-od &1 949 0 59 THR 3

A, TfET § Sarg &1 91 @1 91 AJ19 o41
B. IRk & ggamg

C. TS a ¥ S50 &1 9a-Td® Haa0

D. T U1 41 GaF FeR+

E. =949 11 4= 3@

= feu U el # € 951 ST &1 994 S
1) E.D.C.B. A
(2) B.A.D.E.C
3) E.D.B.C. A
a) A.D.B.C.E
1[Option ID=23669]
2[Option ID=23670]

3[Option ID=23671]
4[Option ID=23672]
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The progression of pressure uleer is

A. Partial thickness loss of dermis.

B. Intact discolored skin with non blachable redness.
C. Full thickness tissue loss.

D. Discolored / blood filled blister.

E. Visible bone, tendon. muscle in wound bed.

Choose the correct answer from the options given below :
(1) D.C.A.B.E
2) D.B.C.A.E
3) D.B.A.C.E
4) D.C.B.A.E

TR ST &1 Jahy 9N 36T 59 UK 8-

A. 79 #1 Hiers 1 sl o

B. AF-sma=a Gl & 9 H@US YsieR @l
C. Gl &1 G0 M

D. Y=g/ ¥ HY femex

E. o8 & a0 § %, $e3, Aiaud &1 &a

e fieu U el # ¥ 98 O 1 94 S
1) D.C.A.B.E




2) D.B,.C,A.E
3) D.B.A.C.E
) D.C.B.A.E
1[Option ID=23673]
2[Option ID=23674]

3[Option ID=23675]
4[Option ID=23676]
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The method of performing Paschimottanasan is

A. Return back to sitting position while inhaling.
B. Feel the stretch while breathing normally.

C. bend forward while exhaling.

D. Touch ankles or feet

E. Sitting in long leg position.

Choose the correct answer from the options given below :
1) D.E.C.A.B
2) EB.C.A.D
3) EC.B.A.D
(a) EEC.D.B.A

UM $44 &1 dilel 59 USR o

A, T fex O gY Foq arell Rl & araw o @
B. MM 419 Td gU WiEE 1 AYE S

C. §i¥ Bied gU 3R gl

D. T&1 a1 ufq &1

E. df-a @1 i & S5

i fau 7y Feedi § | 951 IO B 997 e
) D.E.C.A.B
2 E.B.C.A.D
3) E.C.B.A.D
) E.C.D.B.A
1[Option ID=23681]
2[Option ID=23682]

3[Option ID=23683]
4[Option ID=23684]
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The correct sequence for performing a slump test is

A. Extend the knee as much as possible.

B. Patient slump by flexing the neck, thorax and low back.
C. Patient sitting upright

D. Apply over pressure to the cervical spine.

E. Dorsiflex the ankle

Choose the correct answer from the options given below :
1) B,C.E.D, A
2 B.C.A.E.D
3) C.D.E.A.B
(4) C.B.D.A.E




T O G- &1 3Md HH 38 UPR o

A. e B {571 81 Fob, I TRICS R |
B. IT 1S4, 94 YT Ud R ol Teiay PR o fRufd & smar g
C. M e gBar gl

D. Ifded W R o3d § SISl S8 S|
E. 7@ & SITRiay ST

i 14U U fas ol § 9 951 TR &1 90 BHifolt:
(1) B.C.E.D. A
(2 B.C.A.E.D
3) C.D.EAB
(a) C.B.D.A.E

1[Option ID=23685]
2[Option ID=23686]
3[Option ID=23687]
4[Option ID=23688]
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Sports Taping includes following steps

A. Application of anchors and taping strips.

B. Proper positioning of the part to be to taped.
C. Clean skin, remove grease and sweat.

D. Apply an adhesive skin spray.

E. Shaving body hair.

Choose the cotrect answer from the options given below :
1) B.E.C.A.D
) E.C.B.D. A
3) A.B.C.D.E
() B.E.C.D. A

- eft H FafeiEd =2 e 8-

A. U=l ud et el &1 o

B. T0 U aF amd of w1 Sfew fufa & v
C. @ & 9% F3F HE] 3R =1 ger
D. sefia G & &1 @

E. 3 % &1d g2l

g feu o fawed! § & 95 S &1 904 e
1) B.E.C.A.D
) E.C.B.D. A
3) A.B.C.D.E
4) B.E.C.D. A
1[Option ID=23689]
2[Option ID=23690]

3[Option ID=23691]
4[Option ID=23692]

Sl. No.78
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The hierarchy of levels of Evidence for treatment effectiveness is (Highest to lowest)

A. Expert opinion

B. Case control studies

C. Systematic reviews

D. Non Recolonized controlled cohort studies
E. Randomized control trials

Choose the cotrect answer from the options given below :




(1) C.E.D.B. A
2 A.B.C.D.E
3) D.C.B.A.E
) E.D.C.B.A

TUER THTT & Ry F R w1 9eged (=0 9 haE #i AR B

A oy &1 g

B. ®9-Fe@ Hagd

C. foedfes frog.

D. AF-{EHETS $Ees SR T
E. YsATgas #2m gaa

19 feu U fawedi & 9@ w81 S &1 999 S
1) C.E.D.B.A
2) A.B.C.D.E
3) D.C.B.A.E
@ E.D.C.B.A
1[Option ID=23693]
2[Option ID=23694]

3[Option ID=23695]
4[Option ID=23696]
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The procedurs of Dix - Hall Pike test is :

A. Neck is extended 30 beyond the horizontal.

B. Patient is quickly brought to supine position while maintaining rotation of head.
C. Examiner looks for nystagmus and ask if vertigo is experienced.

D. Examiner turns the head horizotally 45 .

E. Patient sits on the examination table.

Choose the correct answer from the options given below :
1) E.D.B.A.C
) D.A.C.B.E
3) B.A.D.E.C
) A.B.E.C.D

fSau-glauE® ¢ &1 HH 59 UPK o

A T @1 8ol % IR 30° Tg9es a1 oiar ¢

B. IR &1 YAT g5 UM &1 SRPHR 3Gd gU. I BT 2irsran 9 e Rufa d amar sman g
C. TRi&® My & U <adl § 3R I 9 9aax & [ gsdi g

D. T8 16 1 &l U 45° gHT B |

E. I gi&ueed W dadl o

i 14U U fas ol § 9 951 TR &1 90 BHifolt:
1) EED.B.A.C
2) D.A.C.B.E
3) BA.D.E.C
(4) AAB.E.C.D

1[Option ID=23697]
2[Option ID=23698]
3[Option ID=23699]
4[Option ID=23700]
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Given below are two statements :
Statement I : Cardiac valve pathology causes cardiac muscle dysfunction and failure
Statement II : Hypertension causes pathological hypertrophy of left ventricle.

In the light of the above statements. choose the correct answer from the options given below :
(1) Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false

(3) Statement-I is true but Statement-II is false

(4) Statement-I is false but Statement-II is true

TR d R feu m g
FYA | ; BT dfed o1 fapla ¥ Sfeus Aigush & SHsEd $9 5l & i1 d guia: 9% &1 91l 2 |

FYF 11 ;: 3= aaa™ ¥ 1, desa &) Wiaied sRwed! 5l & |

I9ed $YH & AT §, 9 3y U Bl # 9§ v S & 9w S
(1) FEIARI sHiEa®

(2) FYF] ARII SFf s@a 2

(3) FEITOE dET w1l aEa e

(4) FF] HEAE AfeTHUF I 908

1[Option ID=23701]
2[Option ID=23702]
3[Option ID=23703]
4[Option ID=23704]
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Given below are two statements :
Statement I : Determination of functional capacity is part of examination of a patient with pulmonary disease.
Statement II : The chief complaint of patient with pulmonary disease i1s shortness of breath and / or loss of function.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II are false
(4) Statement-I is false but Statement-II are true

4 21w few o &
FYT 1 ; 4T FUT T & W B Hom=a Sael &1 SR S SuE TWIE S Y |
FUF 11 ; T &9 & T S SR/ F T $X I U6 49 FeiUd I F 7 S g GHE el ¢ |

I9ed $YA & AES §, A9 3y 71 Bl # 9 wd o &1 9w S
(1) FFISRI S Fa 7

(2) FF] AR 4 3wa 7

G) THEITaE deT w1l ama e

4) TFEI AL AT FE 1 s

1[Option ID=23705]
2[Option ID=23706]
3[Option ID=23707]
4[Option ID=23708]

Sl. No.82
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Given below are two statements :

Statement [ : Bobath approach. also known as Neuro developmental Treatment is administered to stroke Patient to facilitate his/her
recovery and encourage functional return of normal movement patterns

Statement IT : Bobath approach encourages patients to perform early active movements in synergistic patterns.

Tn the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-IT are false
(4) Statement-I is false but Statement-II are true

EIEEICTICREtR -+

T 1 ; FEY 3, o TRIfSaeyde SuaR Wt S8 a1 © U4TETd & W F WA &1 9 R S 9 JaHe ded & aiig o § Jiefed
FXA % forg & ot g1

FUA 11 : Srard enig AR &1 uRy 9 § Refies Ue ¥ iy wed 30 & o oia & &8

I9Ed FYA & A 1, 9 Gy U fEwl § 9§ 98 S| &1 99 i
(1) FFEIARI S v a7

(2) FYF1 AR EFf 3@ 2

3) FHEITAE AT BE Il Ea B

(4) TE] 3T E AT w1 9O

1[Option ID=23709]
2[Option ID=23710]
3[Option ID=23711]
4[Option ID=23712]
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Given below are two statements :
Statement I : The second class lever is always efficient and has a mechanical Advantage greater then one.
Statement IT : In second class lever, Effort Arm is less than resistance arm.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II are false
(4) Statement-I is false but Statement-II are true

1 2 e Ry &
Fu | - fgdg aufi S 92 95w Sid1 © Ud g9% gifde-aY U6 9 =i g gl
T 11 : fieiia 4 Some § e m0) o e o ¥ 2 B B

SudEd U S A A, 19 3 Y BEei § | 98 I &1 90 S
(1) FFI R SR Ea ®

(2) YR AR <Hf oFa B

(3) T TAE APAFUF ] 3T &

4) TE] A s T FE I 9T

1[Option ID=23713]
2[Option ID=23714]
3[Option ID=23715]
4[Option ID=23716]

Sl. No.84
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Given below are two statements :
Statement I : As the speed of movement through water increases. the assistance to motion decreases.
Statement IT : Application of equipment (glove/paddle/ boot) increase the resistance to movement m water.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-IT are true

(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II are false
(4) Statement-I is false but Statement-II are true

TR d R feu m g
FY | : 70 | T 53ea 31 T dg3 W 39 $9 ufeRiy &1 91541 S 98al 2l
HYF 11 ; IYHR (T, 950 §o) & WA F O A $1 715 MNING Ted W WY §g ol ¢

Swjad BYA & AeF H, 19 3y 1Y e # | 98 sw &1 90 S
(1) FFE] AR S TT 2

(2) FYF] R SHf sEa 2

(3) BFE[TUE AFT FUTIL T2

(4) FFEI A e APIFUHI §T 7

1[Option ID=23717]
2[Option ID=23718]
3[Option ID=23719]
4[Option ID=23720]
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Given below are two statements :
Statement I : The Therapeutic ultrasound can increase caleium iron diffusion across the cell membrane.
Statement II : The Therapeutic ultrasound encourages the growth of new capillaries in chronic ischaemie tissues.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-IT are false
(3) Statement-I is true but Statement-II are false
(4) Statement-I is false but Statement-II are true

R T T E:
T 1 - Fafrciy sremss Sk U & JR-UR Sy 3= & g o sg13a gl
DY 11 : AP eSS, TWH SHGHS SHud! 4 75 SIS &1 S &1 Widiied Pl ol

Sudead HYF & die O, - 3 MU faedl & O 9ad SUgad 9ok &1 904 Sy
() FYFIMRI I T 8

) HYFI IR GH Ted &

(3) HUYF1Tel 8. AP HUF I TTad &

(4) DYF17ad &, A FUA I TEI 8

1[Option ID=23725]
2[Option ID=23726]
3[Option ID=23727]
4[Option ID=23728]

Sl. No.86
QBID:969142461




Given below are two statements :

Statement I : In males the absolute VO, max is approximately 40% higher than in females.

Statement II : When the VO, max is expressed relative to the fat-free body mass instead of the total body weight, the gender difference
in VO, max is reduced considerably.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II are false
(4) Statement-I is false but Statement-II are true

TR faum e
HYF 1 : GO T SEHITE VO, max [T T T 40% HEF SIar s |

YU 11 : TE VO, max B HYUT IR YR 1 o119 he-1! IRR YR & Gaf § Hfrega g1 of1aT 3. 76 o1 & S1yR R 3 g5
VO, max § SAM Hg@yul &0 4 &9 gl Gkl © |

S T & sielie H, 1 fau e fawedl & 9 Ot SR &1 9w S
(1) HYFIARI S Td
(2 FUFISRI GH AT

(3) YT ITH 6. APT DY T &
(4) HYT1 3T R, AfBTFYA T TI 8

1[Option ID=23729]
2[Option ID=23730]
3[Option ID=23731]
4[Option ID=23732]
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The sum of two or more volumes is referred to as capacity. Thus.

A. Inspiratory reserve volume + Tidal volume = Vital capacity.

B. Residual Volume + Tidal Volume = Vital capacity

C. Tidal Volume + Inspiratory reserve volume = Inspiratory capacity.

D. Inspiratory reserve volume + Residual volume = Funectional residual capacity.
E. Residual volume + Expiratory reserve volume = Functional residual capacity.

Choose the correct answer from the options given below :
(1) A& Bonly

(2) C & D only

3) C&E only

(4) B &D only

& U1 G § 31w aieql & OIS &1 Sl g1 o § | S,

A. SHftRed frod afegd + eEsa diegd = a5ed Hufaet

B. Xfgem aiegy + T5sT aiegd = ai5ed HuRel

C. TIgew Aty + STRedl fod ategy = safiRed Hofe

D. s-afiedl o ated + YRIga dicgd = haema YRIge Hufad
E. Yrgem oieqm + teaurs et fod ofeqn = hramma Yagem SR

i fou U Rl ¥ | w8 T &1 954 S
(1) FTWA R B
(2) FIOC AR D
(3) FAWC RE
(4) FIAB AR D

1[Option ID=23733]




2[Option ID=23734]
3[Option ID=23735]
4[Option ID=23736]
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The properties of LASER are

A. Monochromaticity
B. Scattering

C. Coherence

D. Attenuation

E. Interference

(1) A and D only
(2) A& C ounly

(3) A&B only

(4) A.B and D only

LASER & fadwant 2

A, AFBHATRE
B. Shelif
C. ®eed
D. ufegiE=

g
= feu U fAEedi # ¥ T8 o 1 9 S
(1) Faa A SR D

(2) Ham A iR C

(3) HFaT A IR B

(4) F@ A, B @R D

1[Option ID=23737]

2[Option ID=23738]

3[Option ID=23739]
4[Option ID=23740]
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The types of precision handling are

A. Tip to Tip prehension
B. Cylindrical grip

C. Pad to side prehension
D. Hook grip

E. Pad to pad prehension

Choose the correct answer from the options given below :
(1) A.B,C.E only
(2) A.B. D, E Only

(3) B and D Ouly
(4) A.C.E Only

it s & TR &

A. feug-feu g

B. fafesiea 4™

C. 95c-uss g

D. 5% 4™
e feu U fAeedl # ¥ 98 O & 94 S
(1) #59 A, B.C.E
(2) $aaB.D. E

(3) FE@ B, D




(4) H3U A, C. E

1[Option ID=23741]
2[Option ID=23742]
3[Option ID=23743]
4[Option ID=23744]
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Conservative Management of Anterior shoulder instability includes :

A, Addressing signs of inflammation

B. Increasing the quantity of Abduction and External rotation at the glenohumeral joint.
C. Shoulder mobilization (grade III & IV)

D. Strengthening of shoulder musculature

E. Teaching correct biomechanies

Choose the correct answer from the options given below :
(1) A.D &E only

(2) A.C.D &E Only

(3) A& Conly

(4) A.B.D. & E only

&Y B TR ATRRT & Fodic F8YH F AT AR &

A STRIEEE & A4 S SEifd s

B. MFEgaRe 6is W s@eaR iR sawe-a AR HRE B A I §gH=
C. Tiesy AifsemaeEE @ 111 4R IV)

D. 9 &I A= F1 50 sgH

E. Sfua sooifae fammn

19 fag 7Y e & @ w8 S &1 999 S
(1) FTWA D&E

(2) FOWA, C.D&E

3) FmWA&C

(4) ¥FTTA.B.D&E

1[Option ID=23745]
2[Option ID=23746]
3[Option ID=23747]
4[Option ID=23748]
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Some facts about the pulmonary function tests are

A. The approximate value of Inspiratory capacity is 3500 ml.

B. Functional Residual capacity represents the point during ventilation at which the forces that expand the thoracic wall are in balance
with the forces that tend to collapse the lungs.

C. Expiratory reserve volume is the amount of air a person can exhale after a normal resting inspiration.

D. Vital capacity is the sum of the Tidal Volume, Inspiratory volume and Expiratory reserve volume.

E. Total long capacity is appropriately 10.000 ml in a healthy young adult.

Choose the correct answer from the options given below :
(1) Aonly

(2) A.B only

3) A.B &D only

(4) A.B.C&D only




THAMR] HaRH SR & UaH H $8 09 o-

A, TEED FORE A @ 3500 ml B

B. thawre YRigert HuRi dfedws # 51 <un &) cuifdt § 95 9y # $ur o 14 $hs! & Ana $3 9 a6 & & § dgad g 2
C. TeaTeYEd Tierd ofeqn arg #1 9 11 § o UE Sufed 9 ey ¥ 91 315 9%a ol

D. eI5&d ateH, safived faad afegd oiv ueauisied) fod aTaW & Wis &1 a1ged $ufd o&d &

E. UF T T0%F & oiod 07 HUrae! TTHT 10,000 ml 5 31

i fou U Rl 4 w8 T &1 904 S
(1) FaaA

(2) FT@A. B

(3) @@ A.B.D

(4) $TWA, B, C.D

1[Option ID=23749]
2[Option ID=23750]
3[Option ID=23751]
4[Option ID=23752]
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Factors that are essential for relearning of motor control following stroke are

A. Elimination of unnecessary muscle activity
B. Feedback

C. Practice

D. Interrelationship of posture and movement
E. Decision making.

Choose the correct answer from the options given below :
(1) BC. & Donly

(2) A.B.C&D only

(3) A.B &D only

(4) A&E only

UETHIT & UHTd HiIeX Held &1 §F: - & iy orawas $re:-

C. ifFea
D. 9 3R Hofe & dig g8y
E. Sifqe afdn
A feu u et § § w6 oW &1 904 e
(1) F@@B.C&D
(2) ¥TA.B.C&D
(3) F@A.B&D
(4) FTAA&E

1[Option ID=23753]
2[Option ID=23754]
3[Option ID=23755]
4[Option ID=23756]
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Which of the following statements is/are true about Inductothermy?

A. Heating by Inductothermy 1s due to Eddy currents.

B. The magnetic field is a result of a static magnet placed in the circuit.

C. The Inductothermy cable is a part of the resonator circuit.

D. Inductothermy effects are due to the oscillating magnetic field generated by large current at the cables.
E. Magnetic field in parallel to the direction of electric current.

Choose the correct answer from the options given below :




(1) D & E only
(2) A&D only
3) A.C&Donly
(4) A& Bonly

(1) FTWD & E
(2) FTWA&D
(3) HTA. C&D
(4) TTWA&B

1[Option ID=23757]
2[Option ID=23758]
3[Option ID=23759]
4[Option ID=23760]

ot f e e slewd s e B 9@ € 7

A, ST 3§ I SO TS wE el § |
B. 9@ 84 |fde § @ R 79 o1 ol § |
C. sTsaryE e et dftbe &1 3@ 8 |

D. stsae iy & Va1 Had W g8 B § Sod AT TEEg 89 F SRU B © |
E. S@iy 43 siides st & 2w & awse g s |

9 o U Aeedl § ¥ 9% SO &1 994 i
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Match List T with List II

Drugs & Main effects

LISTI LISTII
(Drugs) (Effects)
A |Levodopa I |Anti inflammatory
B. |Povidine - [odine II. |Dopamine precursor
C. |Phenytoin III. |Bactericidal effect
D |Steroids IV, |Anti epileptic

Choose the correct answer from the options given below :
(1) A-IL B-1, C-II, D-IV
(2) A-L B-II. C-III. D-IV
(3) A-IIL B-III C-IV, D-1
(4) A-IV. B-L C-IIL, D-II

1[Option ID=23761]
2[Option ID=23762]
3[Option ID=23763]
4[Option ID=23764]

(1) A-III, B-1, C-II, D-IV
(2) A-I, B-II, C-III, D-IV
(3) A-IIL B-IIIL, C-IV, D-I
(4) A-IV, B-1, C-III, D-II

T 11 gl 11 9 B Hifoe
1 LR
(&9m (WHT9)
A |dEsm I e s el
B. (gdistemafeT | o s e
C. |BieEa 11 |Seeifiasa nyE
D. |ReitgE IV, |tdl-udidfpe
FafaRad [deel d 9 961 SR &1 90 BTl -

Sl. No.95




QBID:969142470
Match List T with List II

technique

LISTI LIST II
A |Airway clearance technique L Osc.lllatm:g pom:
expiratory pressure
Active cycle of breathing
B. |Flutter IL i shiniiaes
C. |Humidification III. |Chest clapping
D. Adjunet to arrway clearance v [Nebutizers

Choose the correct answer from the options given below :

(1) A-IL B-IIL C-IV, D-I
(2) A-IL B-IV, C-IIL, D-I
(3) A-IL B-I, C-IV. D-III
(4) A-IL B-I C-IIL, D-IV

Tl 1 1 =i 1 9 B Hifoe

Geib! 1T
A | fdmaeds | L mﬁ%ﬁﬁﬁuﬂ&@d TaIUTE e
B. [AeIct I1. |ufGed U@ A ST da-is
C. |cafifsfipeH 1. |22 aeifiT
> mm IV, [AgegeR
FFafaRad fasedl & 9 Uel 3ar &l 99 Il -

(1) A-IL B-IIL C-IV, D-I
(2) A-IL B-IV. C-IIL. D-I
(3) A-IL. B-L. C-IV. D-III
(4) A-IL B-L. C-III. D-IV
1[Option ID=23769]
2[Option ID=23770]

3[Option ID=23771]
4[Option ID=23772]

Sl. No.96
QBID:969142471

Match List I with List II (Spinal motion and facet function)

LISTI
(Trunk motion)

LIST IT
(Facet function)

A |Forward Bending (flexion) i facets close
Backward Bending I Right facet closes. left facet
(Exertion) . opens
i bending ik e left facet closes, right facet
opens
D. Side bending Left IV.  |facet open

Choose the correct answer from the options given below :

(1) A-IV.B-I. C-II. D-III
(2) A-IV.B-I. C-III. D-II
(3) A-IV.B-IIIL C-II. D-I
(4) A-IV.B-II. C-I. D-III




el 11 =1 11 4 HeH Bifoe

TWEd AR SR i HavH
AT T 11
@ drer) (e B

A. |3 G (RIDRM) I [hdcdg

B. [l b (THRET) 1. (gl b de, /i e ol
C. [a 3R wgeafEn L |ari Bie &g, a/Ei thhe gar
D. (a3 3R UigSdfEn V. |bUe ga

e faeedl o I 9El TR &1 99 DIt :

1) A-IV, B-1, C-II, D-ITI
(2) A-IV, B-1, C-III, D-II
(3) A-IV. B-III, C-II, D-I
(4) A-IV. B-II. C-1, D-III
1[Option ID=23773]
2[Option ID=23774]

3[Option ID=23775]
4[Option ID=23776]

Sl. No.97
QBID:969142472

Match List I with List I

Vitamin Deficiency diseases

IISTI LISTII
(Nutrient / Vitamin) (Diseases)
A |Vitamin A 1. Rickets
B, [Vitamin D II. |Bertbert
C. |Thiamine (Bl) III.  |Pellagra
D [Niacin IV.  |Night blindness

Choose the correct answer from the options given below :
(1) A-IV.B-I. C-II. D-ITI
(2) A-IIIL B-II. C-IV, D-1
(3) A-IL B-IV, C-I, D-III
(4) A-IIL B-IV, C-III, D-I

i 1T g1 11 9 THeH Bifoy

o= &1 Sl 9 g are T
RS Tl 1
e fSikD)

A |BerFa 1 |Raew

B. [@e™ D n |adsd

c. |umfE@ED . |UeEn

D. |=mfEA v, |3afed

FafeiRad fasedi & 9 9el 3O &1 994 BIfS -

(1) A-IV. B-I. C-II, D-III
(2) A-IIL B-II. C-IV, D-I
(3) A-IIL B-IV, C-1. D-III
(4) A-IL B-IV, C-III. D-I
1[Option ID=23777]
2[Option ID=23778]

3[Option ID=23779]
4[Option ID=23780]




Sl. No.98
QBID:969142473

Match List T with List IT { Abnormal & feel a different condition)

LISTI LISTII
(End feel) (Condition)
A |Soft I |Loose bodies 15 joints.
B. |Fim II. |Acute muscle injury
C. |Hard III. |Synovitis
D. |Empty IV, |Muscular Shortening

Choose the correct answer from the options given below :
(1) A-L B-II. C-III. D-IV
(2) A-IL B-III C-I. D-IV
(3) A-IIIL B-IV, C-I. D-1I
(4) A-IV. B-III C-II. D-I

il 11 g1 11 9 i Hifsie

S UG i fyfd megg e
T I T 11
A o L |[SrsHga e
B |wd 1. |3iege Higui & gogil
c |&s L |EAaERed
D. |und v. (gt &S gA

Fafdafad fdeel 3 9 9l SR &1 9g- S -
(1) A-L, B-IIL C-III, D-IV

(2) A-IL, B-III, C-I, D-IV

(3) A-IIIL, B-IV, C-I, D-II

(4) A-IV. B-III, C-II, D-I

1[Option ID=23781]

2[Option ID=23782]

3[Option ID=23783]
4[Option ID=23784]

Sl. No.99
QBID:969142474

. ’ > . .
Use of continuous ultrasound at 1 watt / Cm~ will result in
(1) No change in nerve conduction veloeity

(2) Increase in motor nerve conduction veloeity and decrease in sensory nerve conduction velocity.
(3) Decrease in motor nerve conduction veloeity and increase in sensory nerve conduction velocity.
(4) Increase both motor and sensory nerve conduction veloeity

1 A1 /em? TR FROR SIS & WA &1 iR0mT gi -

(1) =9 Hag a7 § &g aiaa 6|

(2) =% 4 & Hagd o | gig aul dadt 79l & Hagd 9 H gail

(3) Tae 4 & Hagd I H <A1 aul W9l 46l & Hagd o A gigl

(4) =as Ul Hadl Sl OeE #1 79l & Hagd a1 H G|

1[Option ID=23785]
2[Option ID=23786]
3[Option ID=23787]
4[Option ID=23788]

Sl. No.100
QBID:969142475




Match List I with List IT

LISTI LISTII
(Personality Disorders) (Characteristics)
A, |Infantile autism [. |Panic
B. |Anxiety Disorder II. |Loosening of association
C. |Schizophrenia III. |General lack of responsiveness
D. |Bipolar Disorder IV |Sweeping mood swings

Choose the correct answer from the options given below :
(1) A-IIIL B-I, C-II. D-IV
(2) A-L B-IIL C-IV. D-III
(3) A-IIL B-IV, C-III, D-I
(4) A-IL B-IIIL C-IV, D-1

el 11 =1 11 4 HeH Bifoe
gt fEgaies ok 3ot fagmar
1 =1

@ﬁﬁ?ﬁﬂ&ﬁéﬂ (Fergraam)
A |heRd Sifiesd L |ordfed g
B |tFsdl fEgaiise I (S @ deEeE gHn
C. |Fpemsitm 1. [+RITd IaE @l e
D. |9/Muide f&gaiist V. |[F:Rufd &1 ST
fafaRad fasedl o 9 9ol SR &1 99 SIS -

(1) A-III, B-1, C-II, D-IV
(2) A-L, B-IIL, C-IV, D-III
(3) A-IIL B-IV, C-III, D-I
(4) A-II, B-III. C-IV, D-I
1[Option ID=23789]
2[Option ID=23790]

3[Option ID=23791]
4[Option ID=23792]




